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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question.
sides of the Answer Sheet and filt bu

Write PAP

Use of ink remover or white correcting fluid is not allowed.

ER CODE, which is printed on this.question paper, on the both
bbles accordingly, otherwise the student will be responsible for the situation.

(D) {C) ({B) (A) QUESTIONS Q-1
P Ty 23 =i Base ..:J;L/J;" .:J:Lf(j[(’_,;j ..Q-cf (BJ F+3 46 = 0'_“_,1,1/ 1
Quadratic Radical Reciprocal Exponential : A .

equation equation equation equation  |An equation of the type 3"+ 37" + 6 =0 s an

(}'{) Jr L}:};f Jbt,c.' -VLTL/)‘*JL4X2-5X+2=O:JJL-' 2

Real Rational Imaginary Irrational Roots of the equation 4x* - 5x + 2 = 0 are

_A :_5 _3_ E (..J:Lca+5?u;:ﬁ.«£3x’+51-2=0..—.hvﬁ-a/l 3

3 5 3 If @ , B aretherootsof 3x*+5x-2=0,
) then @+ f is
19 E ﬂ ZE -g':f’}h’xuf4iXIl5:15..../E 4
4 g 4 Find x in proportion 4 1 x : . 5: 15
2 Lgd > J— i k i 1
= = -
L & Y V== yi==r |y e then i Yo Ji| °
x X X x
:/i:'v‘/f s /h..).l:/_; /..,.-ZI, & t'LL:(_ﬁ wlic z__»f. Lfon B’uﬁGFuﬂ u)/ 6
B iiond A ioi An improper A proper A fraction in which the degree of the numerator is
s FQUesio Lfr%ction‘ s fraction greater to the degree of the denominator is called
_{Cs’, -fb-( AW o1 or - -q_mfmrﬁuguiu’--:e 7
Sub set Singleton set Mt «® Null set The set having only one element is calied.
92 o® 4 26 23 AxB }beﬁBMJ:FS:lA{?JUGIUCA..Lr)‘F 8
wee St sl JL.”.U Jel
If number of element in set A is 3 and in set B
; is 2, then number of binary relation in 4 x Bis
500 5\ P2 i 12 s (512 St 5 g..tlgg;'l;{ ﬁJﬁ».&L___fabﬂJbﬂ#UU?@ﬁJrf 9
Lower class Class limits | Upper class Mid Point | !n @ cumulative frequency polygon
boundries boundries frequencies are plotted against
B | CALE |(BEL | TALS et e de St eine i Prfi| 10
Circular MKS system Sexagesimal | cGS system | 1he system of measurement in which the
system system angle is measured in radians is calied
uf s 3] bg _Q.t}fc:..}ﬁ;ubﬁ,;?:u}b 11
Three Four Two One Through how many non coliinear points, a circle can pass?
sof $it5 372 B gin__SLATGLE Uy L FLe | 12
Persendiular | Parallel | Nenaraiel | Golinear "{TEngentscrawnalthe ence of diametre of a
circle are to each other. -

- : . 5 .;.r,«_f;a;d}r/{},wéui.f_-toyjud;ﬂ-(.,,ri._(l 13

o 50 20 40 An arc subtends a central angle of 40° then the
corresponding chord will subtend a central angle of

oF 4 o2 % o 1 e b E Ll BL b il 14

The length of the diameter of a circle is how
4 2 3 1 many times the radius of the circle.

A Ee W SFE Lo sl IS 15
S 4 ° 2 How many common tangents can be drawn

for two touching circles?
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Answer briefly any SIX parts from the followings:-

Define Radical Equation.
Solve by factorization 5x* = 15x
Prove that the sum of all cube roots of unity is zero.

Evaluate (9 +4w + 4("2)3

Without solving, Find the sum and product of the roots of
quadratic Equation. px’-qx+r=0

Define "Symmetric function"

Define "Direct Variation",

if AOC;l; and A =2 when r = 3, find "r* when A =72

Find a third proportional to a2-b2,a-b

Answer briefly any SIX parts from the followings:-

Define ldentity.
Tx~9
Resolve into partial fractions m
If X={1,4,7,9}, Y={2,4,5,9} find X VT
If A={a,b} , B={c.d} find BxA,BxB
Define Binary Relation.
Findaandbif (2a+5,3)=(7,b-4)
Define Median.
Find the model size of shoe for the following data.
4455666,7,7575888656,57
Find range for the following weights of students.

110,109,84,89,77,104,74,97,49,58,103,62
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(iv)
(v)

(vi)
(vii)
A=T288  c r=3 2A=2,4 A }L Skl
a®-0?,a-b e BLE (ix)

6x2=12 g/ fee ALz 7 e B dits 3

Aflle )

Tx-9 )
(x+D)(x—3) RN BTN
LS XY jy=(2.459)X=(1,479/

-y /o Bx A, BxB jg=(c ). As{ab).]

(iil)
(iv)
ISP ATON AN
(2a+5,3)=(7 ,b-4) fiySeeifboma i)
Uy A (i)
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4,4556,66,77,57,588,86,56,5,7./#
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110,109,84,89,77,104,74,97,49,59,103,62
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fill that circte in front of that question number.
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(D) (C) (B) (A) QUESTIONS Q-1
2 U5 i UV s e bW B | 4
Chord Secant Tangent Radius A line intersecting a circle is called.
= = il 4 = t‘ﬂ,;ljﬂ‘;wcﬂ?b-.jﬁ 2
6 4 2 3 Angle inscribed in a semi-circle is
2) {+2) {4} {+4} | e .L:Q’Mx‘l- 18=0=bl-| 3
The solution set of equation 4x“ - 16 = 0 js
3 2 1 0 ce s K M L0 4
Sum of the cube roots of unity is
X & J Fid |l ad +bx+c=0ahis nb - dac < 0] 5
Imaginary Real Rational Irrational _|If bas- &P then the roots of ax? + bx + ¢ = 0 are
20 4 ' % _ -ér:l”xu.‘4:x::5:15.,wl;7 6
4 3 | proPortion4 : x::5: 15
a-b x-ylg+p x+y - e eduinab=x:y )| 7
x y T - ¥ ifa:b=x:ythen alternando property is
=Ll Sl W A iy 2x+1 _ , 2x +1 8
— e Aproper | Animproper | (x+1)(x-1) ° T — (xyl)x-1)
: e fraction fraction
| e \N =7 s AT s
Superset Powerset Subset Set A collection of well-defined objects is called
B-A ¢ B A - btrisA-BIn ACB Ji| 10
: It Ac B, then A -Bis equal to :
= oy 23z bes! Ut EATPL ca §i1 st 11
Renge | Varame | auaries | Aversge |The exenofralon belveen extreme
ey s 63 Ll et n S LW RL UL B A g | 12
A radian A minute A degree An angle :gseugéc::n?cfjrﬁv&;zgopn(;;ril:isngglr[ergys. which
b AT Py Sl i 2 NI Sl 13
Circumference Secant Diameter Radius A chord passing through the centre of the
circle is called.
p S 7 E6 s cetrn___ g Lidrve (| 14
Diameter Centre Chord Secant A circle has only one
Vs e negt e WS Ubsni st e i 45
30° 45° 75° 60° Ky LS,

The length of a chord and the radial segment
of a circle are congruent the central angle

made by the chord will be
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Answer briefly any SIX parts from the followings:-

Define exponential equation. ,u:_"'{..g_J/jJ_—,,lsVJLi;,f (i

Evaluate ®" +@" -5

if @5 are the roots of the equation x* + px+ q=0
then evaluate & + 5

Write the quadratic equation having roots 2 , - 6
Use synthetic division to find the quotient and
reraiger when 0 +72-1D+(x €D

Find third proportional to 28 and 4

If 3(4x - 5y) = 2x - 7y , find the ratio x : y.

Define proportion.
Answer briefly any SIX parts from the followings:-

What is proper fraction? < Cin l{/....s:l: (ii)

If X={2,4,6,...,20} , Y={4,8,12,...,24} then find X - Y

If A={1,2,3,4,5,6} , B={2,4,6,8} then prove that

ANB=BnNnA
Findaandbif (3-2a,b-1)=(a-7.,2b+5)

Definemode  ..u*_s 5k (vii)
Write the formula to find median of grouped data.
Find arithmetic mean of given data.

200, 225, 350, 375, 270, 320, 290

P.T.O 1022-1018- 30000

e

ik et Aserm) 101t

- -

(.;_,,/l 1) (e S
2210 =5
dsi = -~

ox2=12 LS fe2 Pl g e S ditn 2
Solve [z.r——li}ﬂ 2 s 0

o +w® -5 S sd (i)

@'+ B 3 S+ px 2a X B8 fi (v

e ppendd
B G 2 -6 (W)
S Qe e e IS DI i
(+Tx =) +(x+1)
LK 28 4 (vil)
JZE Xy Fr 3(ax - By) = 2x - Ty i (viii)

St (%)
6x2=12 S fe\n ALz g e Y L Sitn -3

Define a rational fraction _u_’/ ._gj"J / M (i)

ed$ X-YIY={4,8,12,...,24}, X=(2,4,6,...20} )1 (i)
e

St 382{2,4.6,8) (A={12,3,45,6}/1 (iv)
ANB=BMA

(3-2a,b-1)=(a-7,20+5)/iL/pi =i baia (v)

What is bijective function? Se_ £ {/{ Jes2 40 (viy
KRS s ety 50/ (i)
U Gird £y (ix)

200,225,350, 375, 270, 320, 290

-SQ_D--IO"J-" "3



